Auxiliary Problems for Chapter 6
1.
There are 12 able-bodied adults on an otherwise deserted island. Eight of the adults work toward the sustenance of the group (i.e., have a “job”). Two of the adults wish to work toward this end but have not yet found a way to contribute (i.e., are searching for a “job”). The remaining two adults refuse to work.  
How many people are in the labor force of the island? Of those, how many are unemployed? What is the unemployment rate on the island? What is the labor force participation rate on the island?  

2.
Suppose the following data describe a nation’s population:





Year 1

    Year 2


Population

150 million
225 million


Labor Force

120 million
180 million


Unemployment rate
7%

5%

a)  How many are unemployed each year?

Year 1 ______









Year 2 ______

b)  How many are employed each year?


Year 1 ______









Year 2 ______

c)  Calculate the employment rate for each year.

Year 1 ______


(Employment rate = number employed/population)










Year 2 ______

3.
Based on the data in the previous problem, what happens to each of the following figures in Year 2 when 3 million job seekers become “discouraged workers”?

a)  Number of unemployed?

b)  Unemployment rate?

c)  Employment rate?

4.
Suppose the Bureau of Labor Statistics reports that the Labor Force was 124.8 million, employment was 117.9 million and the working-age population was 188.1 million.

a)  Calculate the unemployment rate.
b)  Calculate the labor force participation rate (LFPR).

5.
In the above problem, if the full-employment is determined to be at 5% of unemployment, how many will have to find jobs to attain full-employment?
